iﬂ“’“fi}ﬂ‘%s E Y B R

A RART R RET R

# B oA MR PR LB

$BME 410 KRR TAY K F a i3 7;4 £ 0905-135026
% & 0963-089589
MR 4, fzﬁ‘q—?&?%&%’{ifﬂ £ T % Fi‘ B 0930-936532
[%#Pp % :110#62 6p ]

[L4]: EVE-FF2P 213 22 EME T2 § LY

1‘7.
:}1

FAPIARY AP 1068 ERACR 2R b fab % 2 FHEH]
dhAtd 2 1P yae s 1085 &R R A “,‘i:‘_‘; 16 == 3 lOQ%‘fﬁﬁi
2By 23R E A5kt > AER KA ﬁ LAF el E IR, 2 W
%5?3{%@3]5 W AT G (2 EBPEFRG A Eor gy > A
BB L% B |

AT 2P BB BEREY R A (Fairmont) B ¢ & T4 F IS
$ 0B A4 FY 3EYPF 2 AGAE TYERTLAEZ FRESOZC L
' %°ﬂ B TRATEOE L > B R R kKA BB e
il; s Flptd ¢ B¢ R AR RS N B E B TR Rk
L *fﬁﬁﬁkﬁ% P T R - - kgt adE
gig%%“‘gi%iﬁﬁkﬁ%ﬂmnz FEEn A E 4 B Y
RSB E S RS R L B R R E 2 B A B RARIE
PR R BT REFRFE LS B AR NSy o

]
i

~

'
[t

~

~
i\

o

(w. :g
%\@
a-\

AELES PEFEFE BB TN ELTNERGDAE SN EFT
B AR LERRE -~ FALHARFAGFEE L ~Lp p
Fr ~F@masrgs < FABF g8 o 12 38k
T € SR S -3 BT A R I S Y A 4]
23 (= B ¥ 4 jE M3 2 %gﬁgg\lﬁ\ig\,gg\;
;»%,J B~ F 24P QS2021 £z 100 & B fenE 4 o

PR ORI ENELBET A 8 R AR AT Bdke AR



2

(RMIT University Vietnam) » 4 3 $F3% 522 B oAz cnvs (7 11 f4e 35 B AR
i *"—%‘3 ghem 2 BB Y3 FRFLI WA DPFR > AL R DI PR

SRR RE 0 A BRI > AZ IR L A g R FRIFY Y
PHIFY EOMEE RPN P 5 e (Geneva Business
School ) r2 2 ;#+ & 4 ~ & (The University of Sydney) SRk 7+ - A A
PERPEERIRMERERLA NGHK > 3 W R p e anpiad >4 JiL
PEYIEGE T RE AT e R AR o REEE B
Lo P BIRp L igd o

EAT R RERAEY 2 EERG R F I RTE GE- 0P iR
R ER SR L PR RO T R S VR T A
Hiengd 9 d 250 o0 RAF S DT 2 FERES
AR E A BEGARY & ITEY MR B R RE 2 WERT
e PR AR 0 B Y L w d $A AL R AT 4 4 el 2R
Bivd AP FRRT AEBREYREEAN2 A EREHRDS A

gy % B2 110# ARG 221475 =83 250 JFd 5 A RE RS
s o ?‘Fi%%mﬁ”%g’ﬁﬁ§4ﬁiﬁﬁ%’ﬁ?ﬁ$@%
FHBYBRAFELMEDA KA A > FEE A T 2R S BRRE

B BT 5 7 4



EithE T EERE 4 TN —BER

B | cmemora e | OTE | BOER o
u%*i%*ﬁi ¥b¥fi%$ X EF] A o ﬁl E:;f:r %& )&m
‘ \ AN INE R =
g | R paties s | 'BOEESL] 4 100 ﬂi}é IEE;;%%
e | NETHRERE | Bfas oy | D40 /NI EE S S
L ﬁ_(LIBDP) B /& 1B SURHR
EERAER
s | e | FEEEE| wpseED S TAED
T 9 gy 2 pa .
T HiiE | MIEARE 8 L4 (4] i = AR ER AR [E]
B2 (e | HEHENT| g sy (UGS T
=10 it | REm T 2 R E
=
o | 8-10 257 |15 o = A ERAE (A
o P 2N T = — =+ [H
okl | | (800-1000 [ HL /% B I o
~ NEE) |y 2 R SERE
HES -
ERER | BEET | g | PORE BB
sy | g | URET | gy | RETE PR AR 4 B
=0 R L R N T R s s I N AR
M (UFY) | Bz NG e AR -
15
Fe A o
g
g5 s RS 5
IR | e | sEeRy | eas |[TPIRA ST
g AKEET | TERT | (240 /NEF) éﬁjﬁfﬂ*: ﬁf}iﬁ%ﬁ
el SN
Bl -
RIEE T
PR T | ]
EFEW AR | FT D KB 58 | 3 % 30 B 1 FH(E A UG K 2
\@/KQ%FJ - B Thes o BRE =2 73(54-540 2257 - Tf&ﬁé
=T aNT =] BJE /J\H%:‘) W&[\j(,ﬁ—i,%ﬁj\ o
&3 22 1%







